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1)  Solve (x + 5)(x – 4)=0
2)  Solve (x + 0.5)(2x – 7)=0

3)  Solve        x(x – 8)=0

4)  Solve      4x(x + 7)=0

5)  Solve      x2(x + 7)(x – 7)=0

6)  Simplify 
[image: image1.wmf]14

p

9

7

p

3

2

¸


7)  Simplify 
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8)
Solve:   3(2x + 5) – 6 > 7 – 3x   



A solution to a linear equation represents 

a point (coordinate) on the line
A solution to a quadratic equation represents 

a point (coordinate) on the quadratic graph

There can be:

 two solutions



       one solution




no solutions

Solve 

5 = x2 – 6x +13


4 = x2 – 6x +13



3 = x2 – 6x +13

Solution: x = 2 or 4


x = 3





No solutions - yet!

How do we find these solutions?


Review




A quadratic equation in factorised form
0 x 5 = 





(x + 3) (x – 5)  =  0
0 x 14 = 





    0    × “anything” = 0

0 x “anything” =


     “anything” ×   0       = 0

If we make each bracket equal 0 then we get the solutions to the quadratic







(x + 3)(x – 5) = 0

To make the first bracket = 0 we need x = -3


For the second bracket to =0 we need x = 5


Solutions x = -3 or 5



Sometimes a small equation is needed in order to calculate the solutions

1)  (4x + 7)(5x – 9) = 0
Solve 4x + 7 = 0 for the first bracket

x = 
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Solve 9x - 5 = 0 for the second bracket

x = 
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2)  (5x – 8)(7x – 3) = 0
3)  (4x – 1)(3 – 11x) = 0
4)  5x(2x – 9) = 0

5)  (
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x – 8)(3x +
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) = 0

6)  
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(5.6 – 7x) = 0


A quadratic may need to be factorised before solving

x2 + x – 2 = 0 is difficult to solve, (x + 2)(x – 1) = 0 is easy to solve! 

1) x2 + 8x + 15 = 0

2) x2 – 15x + 56 = 0

3) x2 – 22x – 23 = 0

4) x2 + 16x + 39 = 0

5) x2 – 64 = 0

6) 4x2 – 27x + 35 = 0


A quadratic may also need to be rearranged before it is factorised to be solved


Equation
                   x2 = 2 – x
Rearrange          x2 + x – 2 = 0   (must = 0!)
Factorise 
  (x + 2)(x – 1) = 0

Solve 
         Solutions    x = -2 or 1

1) x2 = 2x + 8

2) x2 – 6 = 5x
3) x2 = 13x – 42
4) x2 = 18x


Solving quadratics by factorising





Check solutions!


x = -2


    (-2)2 = 2 – -2? 


        4  =  4 Yay !





x = 1


       12 = 2 – 1?


        1 = 1 Yay!











Solving quadratics rearranging





Solving quadratics B





Starter





Theta 


Ex 6.01





Examples


1) (x + 5)(x + 2) = 0					4) (2x – 5)(3x + 2) = 0








2) (x – 7)(x + 6) = 0					5) (x – � EMBED Equation.3  ���)(x +� EMBED Equation.3  ���) = 0








3) x(x – 4) = 0						6) (2 – x)(5 + 2x) = 0








Theta 


Ex 6.03


Ex 6.04





HW Theta pg 23





HW Theta pg 29 & 22 Done?














5) (x – 2)(x + 1) = 10








6) x – 1 = � EMBED Equation.3  ���








7) (x + 2)2 = 9





Theta 


Ex 6.02
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y = x2 – 6x +13





Coordinate


    (3 , 4)





3





Coordinate


    (2 , 5)


    (4 , 5)





2   4
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y = x2 – 6x +13
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y = x2 – 6x +13






































Solve   x2 = 2 – x
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x
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Solving quadratics A








Solving quadratics (intro)








_1164730706.unknown

_1324489288.unknown

_1324492896.unknown

_1164730733.unknown

_1164732508.unknown

_1164730478.unknown

_1164730680.unknown

_1164729910.unknown

_1164730453.unknown

_1164729843.unknown

